ath 1 Name: |L€%§
ential Growth and Decay #2 Date:

MCC9-12.A.CED.1 Create equations and mequahtles in one vanable and use them to solve
problems. Include equations arising from linear an :
exponential functions.

nt
Compound interest: y = p [1 + i} Compound interest (continuous): y = pe’
n

1) You deposit $2000 in an account that earns 5% annual interest. Find the balance after five years if
the interest is compounded

a. annually of ﬂ ) - U
W= 2@4’”(’3 | *”i“) = 2ppg Lues) 2 Lobo [tzrizdvnn sy o !
= 725%2,5L3129 = :__ZEMZ Jg
b. quar teﬂY o LU‘«’) , i .,ii-:i; = Z,bbp( T 5 o
\{) = 200b (‘l ¥ ey ) = ppp VYO ML Jz;b L J S {
Ty LD 125) VA A BN I A T R
¢. monthly o

5} . = 2o es (L2533 1780
V\ ?.Dvp(\}r’ag) . ibiw-.fw,bb‘%llal.u,gfj A

} b o B LG et
= 2w {Lbb’--%*-E;LLtLL"ﬂ / (3TN

d. continuously

Wb e

P 33
b 6153 25 L T I BN L S A 16 LE 5%
W= QQ«V zlospe i oo 5 = 2bwe i), 2%02s T = BR LG 0T UEE 5he. _,‘

- e

2) A customer purchases a television set for $800 using a credit card. The interest is charged on any

unpaid balance at the rate of 18% per year compounded monthly. If the customer makes no
payment for one year, how much is owed at the end of the year?
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3) If you deposited $1000 into a savings account earning 6% annual interest compounded guarterly,
how much money do you have at the end of 3 years? What if it was compounded continuously?
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4) The M.A.T.H. Company has a savings plan for their employees. If an employee makes an initial
contribution of $2500 and the company pays 7.5% interest compounded daily, how much will the

employee have after 10 years?
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A local bank advertises two special savings accounts. You have $500 and you want to decide

which offer is the best investment.
a. One account offers 4.9% compounded daily. Write a formula that glves the balance of this

account at the end og one year.
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The other account offers 5% compounded gquarterly. Write a formula that gives the balance of

this account at the end of one year.
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Determine the balance of the account using the formula from part (a).
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Determine the balance of the account using the formula from part (b).
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Explain which account 1s the ggi't%vesment and whether the interest rate or compounding

period is of more unportance
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